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E. px—l px... Px+k-]
[&x]C
[ﬁ*}ﬂ,‘pxzs(x'”)  S(x+2) S(x+k) _S(x+k) _

S(x) S(x+1) S(x+k-1)" S(x) =Py " Prv1 " " Pask-d
CLHIBE TS ik A Makeham 36 1= 43 4li, h, =0.003, hy =0.004, h, =0.006, W, pro
( ) o

A. 0.98315 B. 0.97555 C. 0.97315 D. 0.98555

E. 0.97355

[&EXR]C

[ 47 ) i T 75
hy, =A + Bc® =0. 003 (1)
hy =A + B =0. 004 (2)
hy =A + Bc® =0. 006 (3)

*Ij}ﬁ 40 h?ﬂ =C|0 :2’ E]T'T‘E}'- ¢ :20.10

10 - hzo

e MEARA (1) F1(2) 15
A +4B =0. 003
A +8B =0. 004
4%, B=0.00025, A=0.002, M
h, =0. 002 +0. 00025 x2*"*

S(x) =expl ~Ax—2-(" ~1)] =exp[ -0.002x ~0.0036067(2" " =1)]
C

LA opi =S(20)/5(10) =0.97315,



26. aﬂS()-@——j,Osngmo&ﬂ%ﬁﬁwT,m—ﬁﬁoiAmﬂﬁﬁﬁ%%

100
PR Z AR ),
A. 24.32 B. 28.45 C. 29.42 D. 29.65
E. 32.54
[&£=x]B
[ f47 ) th 2 B2 A1
_S(50 +1) (100 =50 —\* (50 —¢\°
P50 =75(50) ‘( 100 — 50 ) ‘( 50 )
Y & _ 0 B 0 50 —t 2 B 5_0
BT E[T(50)] = é, _J: Psodt = j:( < )dz =3
X E[T°(50) ] J:zx podt = fzz(so- )2di = '2350
R Var[ T(50) ] = E[T(50) ] = E*[ T(50) ] = %-(53—0) =%5-0,

&EUUM)+/%FWET;?+ %?_%45

27. BOHAEBILHAEAFRECN S(x) =1 —ﬁ(o\deO) WX F—4~ 40 N, FHE
B IER 2 ( )o

(D ArEn St (RS s () BIEREON.
A. (1)(2)(3) B. (1)(2) C. (1)(3) D. (2)(3)
E. (1)

[E%]D

[ 8347 ] B AL fr BB B G R, 15

S(t+40) 60 -1
(I)ST(40)(t)=lp4O= 2(40)): 60 9

0<t<60

S'(t+40) 1
S(t+40) 60 —¢

60 1 1
(3)fra0) (1) = Pag prcany (1) Zwt —=—_ 0<t<60

(2)#7(40)(5) = - 3 0<t<60

28. &, J x B MR MBIRAMOE, wlx) HHSET IR, Weu(x) - —e =( ) o
S(x+1)

S(x)

1
S(x)
[Z=R]D
[ AT ) th B T 19

A. B. -1 C. 0 D. 1

E.

it = aah = [ o
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29.

30.

fid, 48+ S -Sx+u(x+) ] =S(x+1)[ -S(x)u(x)]

dx'P* Tz S(x) [S(x)]?

-Slx+ule) SCarDuladh) _ p [u(e) -ule+0)],

d , d (* *
M-8 = ) pade =L Polp(x) —p(x +t) Jde

o

=u(x)f0 .p,dt—L Pop(x +t)dt

= &t} ﬁj”s'(x F)de

=eu(x) - S( ) —Z’uu,(x)—l,

Ble u(x) —iéx =1,

i X A0, 10]85)50 41, B OIET=RHK m,, W ms H( )

3 2 3 1
A. ? B. 3 C- ? D. ?
I

E
[ZX]B
[T ]C % X IR0, 10]395)5040, BT AL REOR X MR B 5R «

10 —x

S(x) = 10 ° flx )_E’ 0<x<I10
fods [ o
WRE L, A mg = J = ﬁ{ol?x -2,
J;S(x)dx L T
WIET RO : 1001 L 0<x<100, | P(30 <x<351 x>20) =( )
A. 0.0327 B. 0.0428 C. 0.0625 D. 0.0728
E. 0.0825
[Z=R]C
[ f@4r ) K
Fo(x) =1 —exp(~ [ lool_sds)

=1 - exp[In(100 - x) - In100]

= /100
Fir LA

F(35) - F(30)
- F(20)

_35/100 -30/100
1 -20/100

=0. 0625

P(30 <x<35|x>20) =
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